% Pebrvorth Twynham Group

. '. ‘ﬁeﬂﬁ An simple next step after learning St Simon’s and St Martin’s
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Twynham St Simon’s * Because of the different lead end....

*  4th place bell will still make seconds as before

* Same Front work... same back work. e 2nd place will plain hunt (run out) and start the back work (5th

e Standard plain hunt starts. place bell).

« 123 Lead End is the only difference. . i/tgrsloce bell will make thirds and do the second half of the back

* Different coursing and place bell order... e 3rd place bell will plain hunt (run in) and start the front work...

* StsSimon's Group 2, 4,5, 3. e The back work has no dodges.... just hunting between 3rds and

5ths 4 times.

e Twynham Group2, 4, 3, 5.




Working with the Treble Bobs

e Because the working beer duo two leads at the front
and two leads at the back... the treble will not pass
bells in the same order up and down... a-b-c-d will

N
become c-d-a-b on the return. » Normal Bobs (145) will not work with a 123 lead end.
* Passing the Treble... Symmetry S we use 125 Bobs... (a normal as St Martin’s or Plain

Bob lead end).

e Pass the treble in 2-3... go to the back and become 5th
e 4ths Place bell will make second’s and be unaffected...

place bell.

e 2nds place bell will dodge 3-4 up becoming 3rds

e Pass the treble in 4-5... you are the pivot bell... lie, 3rds,
place bell...

lie and pass treble in 5-4 down.
e 5th place bell dodges 3-4 down to become 4th place

e Pass the treble in 3-4... Lie and then start the front bell

work... passing the treble in 3-2 on the way down.
e 3rds place bell makes 4 Blows behind to become 5th

e Pass the treble in 1-2... Make Seconds... 2nds place bell. olace bell.

Touches
Alternative FI’Oﬂt WOFkS... e There are 4 possibilities for touches.

e A bob course which is 4 leads, (so the same length as a plain

course
e Just like St Martin’s, you can vary the front work and still use the same back work, calls and urse)

touches. e Alternate leads will yield 60 changes... which is ideal for the final

) ) element in a quarter peal. (call either 3 or 5, four behind 3x).
¢ There are four different options.

e Call any bell as 2nds observation. (4 possibilities)

Bampton Twineham Fifield St Ouen , o ,
: - . - : \ ) e Miss 1lead per course.. the observation is the bell making

(Like St Martin’s) (Like St Simon’s) (Like St Osmund’s) (Like Eynesbury) seconds... but it is affected
lead + 2 places.. Lead + 2 dodges Lead + 1reversed dodge  Lead + reversed places

12345 12345 12345 12345

-14253 14532 14532 -14253

-15432 -13425 13254 -15432

-13524 12543 15423 -13524

-12345 -14235 -12534 12453

13524 13452 -15234

-12845 15243 -13542

14325 -14325

-12453 12534

15342 -13245

14235 -14352

18524 -15423

-12345 12345



